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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2016

Subject Name: Data Communication and Networks

Subject Code: 2TE0O4CNN1

Semester: 4 Date: 10/05/2016

Branch: Diploma(CE)

Time: 02:30 To 05:30

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Marks: 70
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Attempt the following questions:
How many layers are there in TCP/IP model?

A) 4, B) 5.

C) 6. D) 7.

Hub is a device.

A) Uni casting. B) Broadcasting.

C) Multicasting. D) None of the Above.

What is the Full Form of UDP?

A) User Datagram Protocol. B) User Data Protocol.

C) User Define Protocol.

What is the Full Form of WAN?
A) Wide Access Network. B) Wide Area Network.

C) World Area Network. D) World Access Network.
Which of the following is known as a linear topology?

A) Bus. B) Tree.

C) Star. D) Ring.

What is the Full Form of FTP?

A) File Transfer Protocol. B) File Travel Protocol.
C) File Transport Protocol. D) All of Above.

In which layer Hub works in OSI reference model?

A) Physical Layer. B) Network Layer.

C) Presentation Layer. D) Transport Layer.

Which of the following is E-mail Protocol.?

A) SMTP. B) POP3. C) UDP. D) Both A and B
Full name of IP

A) Internet Protocol. B) Internet Program.

C) Intranet Protocol. D) None of the Above.
Which of the following are types of Hub?
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D) User Domain Protocol.
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K)

A) Active Hub. B) Passive Hub.

C) Intelligent Hub. D) All of Above.

A Vast Collection of Different Networks is called

A) Intranet. B) Internet.

C) Local Area Network. D) None of the Above.

Full name of ISO .

A) International Standard Organization. B) Inter Service Organization.

C) Intra Standard Organization. D) Intel Standard Organization.
IPv4 has bit Address.

A) 32. B) 128. C) 64. D) 28.

IPv6 has bit Address.

A) 32. B) 128. C) 64. D) 28.

Attempt any four questions from Q-2 to Q-8
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Q-6
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Attempt all questions

Explain Structure of Data Communication

Explain OSI Reference Model with Diagram.

Attempt all questions

What is Topology? Explain Bus, Ring and Mesh Topology with its advantage and
dis-advantages.

What is Computer Network? Explain different types of Computer Network.
Attempt all questions

Explain TCP/IP model with diagram.

Explain Twisted Pair Cable

Attempt all questions

What is Server? Explain Print Server, Web Server and File Server

What is Transmission Media? Explain Unguided Transmission Media in detail.
Attempt all questions

Differentiate between Hub and Switch.

Explain Generic and Inverse domain

Attempt all questions

Write Short Note on NIC, Router and Access Point.

Explain Classification of IP Address

Attempt all questions

Explain E-mail and their Protocol.

Explain IPv6
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